
Order of Math Operations with Numbers -100 to 100 (E-5)
CHALLENGE

Name:

Time: Score: /

233)

((0÷ 8)× 1÷ ((10× 2÷ 4)× 1× 10)) + 52 + (−99) =

234)

(((0× (−1))× (−38)))÷ 63÷ (−31)÷ (−61)÷ 8 + 40÷ 10− 1 =

235)

((42− (−24) + (−47))− 29− (−6))÷ (((81÷ 9÷ 9)× (−4)))− (−8) =

236)

6÷ 6 + (78− 70)− (−17)÷ (71− (−16))× (((0÷ (−10)÷ 80))) =

237)

(2× 9)× (((5× (−7)) + 31))÷ (((7÷ (−1))− (−3))) + 36 + 18 =

238)

((5 + (−50)) + 1 + 20 + (−30))÷ (−6) + ((80÷ 8− (6× 1))) =

239)

8× 10÷ (3× 6− 2) + 4÷ 4 + (2× 10 + 69) =

240)

(((4× 0÷ (−28))))÷ (40÷ 4)÷ (−2) + ((2× 8) + 27÷ (−9)) =
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